il
W
St
%
I

1. THE4
THE4 EE) 1R Rl s 7 — i T
THEHA 8 o) W A B8 K T P S SAURT 3 L o
2. THEHNE
1)  HEI4 SNBSS AR
2) £ I & KR (NEKEY)
3) T i 223 H H F0 T4 8H21H
= SFn 84 3H31H
4) TEyE

ELAma  JuN TR )R




il
W
>
%
I

T4 | IR B bR o — bkl L

TEHX4y « Tfd - FER B Az W B & HH i il R
ET = 1 16, 955, 190
IINE K FH A 2 1 16, 955, 190
K3 A = 1 11, 149,548 | BEAR (VINEKH) 2 fq
40 (NMEK) 2 Fa5y
BEAZE & VMEAKM) 2 M5
BRI EIER = 1 4,972,000 | KRR ERR 1 [if]
5 A BB 2 1 T
B = 1 833, 642 | PEEE 1 X
g BERG AT 1 F2V
M B E 2 1 2, 096, 000
WL EE 2 1 19, 051, 190
TE g 2 1 1, 490, 000
BLVEIFAM 2 1 20, 541, 190
Paft T Y 1 3, 739, 662
IINEK P % T = 1 216, 000
figis T = 1 216, 000 | /NE/KFi#GiE 1 =
IR PR i PR AT = 1 3,452,122
/NEKPPERT T =Y 1 3,452, 122 | HEf+ UINEAK) 1 =
PEAT (8 %) 1 2
ERERE OKPIRRR) 1 =
EHRE (BRI 1 =
BRLE ! 2
A Y 1 71, 540

TAZIEE LN )R




TH4 | BWIF B S— M T F
THEXSy - THE - FE5 H7 & & # i Gl N
JE5 3R I (B B 2V 1 71,540 | 1 E20

BT 2V 1 728, 000

SN (REt L) X 1 728, 000
ol T 2V 1 4, 467, 662

e R E20 1 988, 000

A RRike S o 2V 1 1, 384, 000
oA T 2V 1 6, 839, 662
AR E20 1 610, 000
T AT 2V 1 27, 990, 852

— e PR E20 1 5,059, 148
N E20 1 33, 050, 000

-2- [ A2 U H i R




